
日にち： 月 日

名まえ

⑬ 仕上げ

13

四捨五入して百の位までのがい数にして、答えを見積もりましょう。２

② 621 － 348

見積もる式：

答え（ ）

③ 2000 － 270 － 589

見積もる式：

答え（ ）

① 817 ＋ 586

見積もる式：

答え（ ）

－ ＝

－ ＝－

＋ ＝ 35

① 7593 － 5986

② 60352 ＋ 4701

四捨五入して千の位までのがい数にして、答えを見積もりましょう。１
み つ

見積もる式：

答え（ ）

見積もる式：

答え（ ）

－

＋ ＝

＝



日にち： 月 日

名まえ

⑬ 仕上げ 答え

13

四捨五入して百の位までのがい数にして、答えを見積もりましょう。２

② 621 － 348

見積もる式：

答え（ ）

③ 2000 － 270 － 589

見積もる式：

答え（ ）

① 817 ＋ 586

見積もる式：

答え（ ）

－ ＝

－ ＝－

＋ ＝

600 300 300

300

2000 300 1100600

1100

800 600 1400

1400

① 7593 － 5986

② 60352 ＋ 4701

四捨五入して千の位までのがい数にして、答えを見積もりましょう。１
み つ

見積もる式：

答え（ ）

見積もる式：

答え（ ）

－

＋ ＝

＝

60000 5000 65000

65000

2000

8000 6000 2000
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